i 1:
The team was asked to ______their findings to the committee during the annual conference.
o IEf&: (c) present
o B [F-LRERLSHECREARCHEMPELRRT I Lokvbhi] L)
XE» 6, "present" (KT B) Db #EYITT,
o flhoDEIRIL:
o (a)submit: &3 2| >3k E. fRHTE RS RERI KD LT 5,
o (b) propose: [EET 2] ~RETIE= 2T v AHFH,
o (d)convey: [MEz 3] —FFRKLW»IWHERITAICIZAEDR WV,

& 2:
The lawyer advised the client to
e 1Ef#: (a) maintain
o MR [ WL BT B 70K IR T A L OME L] L)
EA S, "maintain” (MRS %) 2SRETT,
o fhoFEIRIL:
o (b)defend: [5F3 | - WEBW K=o T VY ADWT X3,
o (c)assert: [FIRT 2 | ->FBINICT ©—F 3BT, URICZ Chkwv,
o (d) uphold: [3Fi3 2] —MFFClEARMEDL L OXLFFEEKRT 2 2 LA
%\,

his stance during negotiations to avoid conflict.

FiE 3:
The government has promised to ______ resources to areas affected by the natural disaster.
o 1Ef#: (b) allocate
o M BUFRARKFOWKMICERZEY L TE I L2HRLA] v E
25, "allocate" (EH|h:H<T3) 25@EYITI,
o fhDEIRL:
o (a)provide: [$&fit3 2 | BN XARTE [ Ticenzd | »uET

ALY
o (c) distribute: [fc3 2] —#E YT L i3HAR Y, BLUCHREL -ERZJE
T=aT VA,

o (d)deploy: IAtiE 3 % | > AECHMHICET 2 XRTHEDLINDE Z L35\,

& 4:
Despite the increasing costs, the company decided to its commitment to sustainability.

o IEfE: (d) renew



o MEEL [aXP2MEIMLTCV2iIcd2rbbd, St~ 2 I v 2
VIEFEICTBILERELZ] LW LELS, "renew" (TR T 5, FHER
H3 %) 25881 CTd,

o o EIF:

o (a)extend: MMEET 2 | =¥ HOMAMZEIE T =2 T v A7EH, T2 TIEH
R RKD LN TV 3B,

o (b) reinforce: [i#fLF 2| -3 E L CTo0@H xR,

o (c) sustain: [#fEFF3 2| > FEZCH 2 ICKIAT 2 BEHRICITAED RV,

i 5:
The professor’s lecture aimedto__ the misconceptions surrounding artificial intelligence.
o 1Ef#: (d) dispel
o MRl [BEOBREIATHEICHT 2HBLIARATE L 2HNL LT ¢
WS ICE A B, "dispel” (MRT 5. BUOBRL) 28EYITE,
o fthooiEIRL:
o (a)clarify: THIiEICT 2| e RT2L0 T =2T v %,
o (b) challenge: [EFEZIEZ 2| —AK & W) B RITENICIZE D RV,
o (c)counter: I3 2] =Xk E,BEEZMEES =27 v 2 & LTEAT4



